| EEW | @AEREEW | txB | C | P | #ARALEFYR] H | TLE
15A 25.7 2.0%25 | 45 | 20 M6 x 20 62 | 3.0
20A 31.2 2.0%25 | 45 | 20 M6 x 20 65 | 3.0
25A 37.6 2.0%25 | 45 | 20 M6 x 20 68 | 3.0
32A 46.3 2.0%25 | 45 | 20 M6 x 20 72 | 3.0
40A 52.2 2.0%25 | 45 | 20 M6 x 20 75 | 3.0
iiiiiii E S ey 50A 64. 1 2.0%25 | 45 | 20 M6 x 20 81 | 3.0
% i % 65A 79.9 2.3%25 | 45 | 20 M6 x 20 87 | 3.0
| B } o | n 80A 92.7 2.3x25 | 45 | 20 M6 x 20 9% | 3.0
| - ’ | 100A 118.3 2.3x25 | 45 | 20 M6 x 20 109 | 3.0
I SN N N N I e L—‘
] \
WARILEFY R
R / @
kk 1
| | N
&r ) Il
i ) J@L
— xI—

3mm CRI L

xZ  |gE |&# AT UL AR/ \—RPCIL/ A RBNft
HE sus304 s A
NN e fit
5=
B 10130013471 RVANE

SHEET

el QSR ATV SHL evssn| A3




